



Q: When should I use cotton gauze?





Non-Sterile

The most cost-effective choice for cleaning, debriding and covering wounds.

- Packaged in sleeves of 200 sponges
- The preferred choice of most nursing homes

Non-Sterile Bulk

Item Number	Item Description	Case Pkg
PRM21208C	2'' x 2'', 8-ply	200/sleeve, 25 pk/cs, 5,000/cs
PRM21208CZ	2'' x 2'', 8-ply	200/sleeve
PRM21212C	2'' x 2'', 12-ply	200/sleeve, 40 pk/cs, 8,000/cs
PRM21312C	3'' x 3'', 12-ply	200/sleeve, 20 pk/cs, 4,000/cs
PRM21312CZ	3'' x 3'', 12-ply	200/sleeve
PRM21408C	4'' x 4'', 8-ply	200/sleeve, 20 pk/cs, 4,000/cs
PRM21408CZ	4'' x 4'', 8-ply	200/sleeve
PRM91408C	4" x 4", 8-ply, economy	200/sleeve, 20 pk/cs, 4,000/cs
PRM21412C	4'' x 4'', 12-ply	200/sleeve, 10 pk/cs, 2,000/cs
PRM91412C	4'' x 4'', 12-ply economy	200/sleeve, 10 pk/cs, 2,000/cs
PRM21416C	4'' x 4'', 16-ply	200/sleeve, 10 pk/cs, 2,000/cs
Cotton Filled De	ental Sponges	
PRM22DS	2'' x 2''	200/sleeve, 25 pk/cs, 5,000/cs
PRM44DS	4'' x 4''	200/sleeve, 10 pk/cs, 2,000/cs

COTTON WOVEN GAUZE SPONGES

STERILE

Ideal for wound debriding, prepping, packing, dressing and general wound care.

- 100% cotton sponges constructed of fine mesh gauze
- Low lint manufacturing process assures debris-free packing
- "C fold" design minimizes loose threads and lint

Sterile 2's

Item Number	Item Desc.	Case Pkg
PRM2208	2" x 2", 8-ply	50 pk/bx, 30 bx/cs, 1,500 pks/cs
PRM2208Z	2" x 2", 8-ply	50 pk/bx
PRM3312	3" x 3", 12-ply	40 pk/bx, 30 bx/cs, 1,200 pks/cs
PRM3312Z	3" x 3", 12-ply	40 pk/bx
PRM4408	4" x 4", 8-ply	50 pk/bx, 12 bx/cs, 600 pks/cs
PRM4408Z	4'' x 4'', 8-ply	50 pk/bx
PRM9408/Econ	4'' x 4'', 8 ply	100/bx, 12 bx/cs,1,200/cs
PRM4412	4" x 4", 12-ply	25 pk/bx, 24 bx/cs, 600 pks/cs
PRM4412H	4'' x 4'', 12-ply	25 pk/bx
PRM9412/Econ	4'' x 4'', 12-ply	25 pk/bx, 24 bx/cs, 600 pks/cs

Sterile 1's

Sterile 13		
Item Number	Item Desc.	Case Pkg
PRM21419	2" x 2", 12-ply	100 pk/bx, 24 bx/cs, 2,400 pks/cs
PRM21419Z	2" x 2", 12-ply	100 pk/bx
PRM21421	3'' x 3'', 12-ply	100 pk/bx, 24 bx/cs, 2,400 pks/cs
PRM21421Z	3'' x 3'', 12-ply	100 pk/bx
PRM21423	4'' x 4'', 12-ply	100 pk/bx, 24 bx/cs, 2,400 pks/cs
PRM21423Z	4'' x 4'', 12-ply	100 pk/bx





ABD/COMBINE PADS

For heavily draining wounds.

- Soft, non-woven rayon/polyester outer layer is virtually non-adherent
- Compressed cellulose center quickly absorbs heavy exudate
- Hydrophobic back retards strike through
- Sealed, finely finished edges prevent linting

Sterile 1's

Item Number	Item Desc.	Case Pkg
PRM21450	5'' x 9''	25/bx, 16 bx/cs, 400/cs
PRM21450Z	5'' x 9''	25/bx
PRM21453	8'' x 7.5''	20/bx, 12 bx/cs, 240/cs
PRM21454	8'' x 10''	16/bx, 20 bx/cs, 320/cs
PRM21454Z	8'' x 10''	16/bx
Non-Sterile Bulk		
Item Number	Item Desc.	Case Pkg
PRM21451	5'' x 9''	576/cs



DRAIN SPONGES

Unique opening helps to wick away more fluid from tube site.



- Superior fenestration more closely hugs drain tubes, keeping tube sites drier
- 6-ply, rayon/polyester fabric provides maximum absorbency and low linting
- Pre-cut sponge eliminates the need for sterile scissors and conserves nursing time

Sterile 2's

Jecine 2 J		
Item Number	Item Desc.	Case Pkg
PRM256001	2''x 2'', 6-ply	35 pk/bx, 20 bx/cs, 700 pks/cs
PRM256001H	2''x 2'', 6-ply	35 pk/bx
PRM256000	4''x 4'', 6-ply	25 pk/bx, 12 bx/cs, 300 pks/cs
PRM256000H	4''x 4'', 6-ply	25 pk/bx
\		





Q: When should I use non-woven?

Absorption

Low-linting

Fast wicking

Wound release

Lower cost

NON-WOVEN GAUZE SPONGES

More absorbency and less linting than 100% cotton gauze.

- Unique rayon/polyester formed fabric
- Significantly less linting than cotton gauze
- Virtually non-adherent
- More cost-effective than cotton gauze

Sterile 2's

Item Number	Item Description	Case Pkg
PRM21224	2''x 2'', 4-ply, 2's	50pk/bx, 30 bx/cs, 1500 pks/cs
PRM21224Z	2''x 2'', 4-ply, 2's	50pk/bx
PRM21444	4''x 4'', 4-ply, 2's	50pk/bx, 12 bx/cs, 600 pks/cs
PRM21444Z	4''x 4'', 4-ply, 2's	50pk/bx

Non-Sterile - Bulk

Item Number	Item Desc.	Case Pkg
PRM25224	2''x 2'', 4-ply	200/sleeve, 40 sleeves/cs, 8000/cs
PRM25224Z	2"x 2", 4-ply	200/sleeve
PRM25444	4''x 4'', 4-ply	200/sleeve, 10 sleeves/cs, 2000/cs
PRM25444Z	4''x 4'', 4-ply	200/sleeve

About Your Medline Sales Representative

Your Medline sales representative is a knowledgeable trained professional - prepared to provide you with the level of service you expect to ensure the smooth working operation of your health care facility.

Ask them about inservicing - or about anything concerning the products and services we provide.





COTTON GAUZE BANDAGE ROLLS

Ideal for bandaging heads, limbs and difficult to dress wounds.

- 6-ply, 100% cotton
- Unique crimped, open-weave design means superior absorbency and cushioning
- Gently stretches and conforms to body contours
- Used as either a primary or secondary dressing

Item Number	Item Desc.	Case Pkg
PRM25865	Sterile, 4" x 3.8 yds	100 ea/cs
PRM25865H	Sterile, 4" x 3.8 yds	1 ea
PRM25855	Non-sterile, 4" x 3.8 yds	100 ea/cs

SUPRA FORM™ CONFORMING BANDAGES

Gently secures primary dressings without restriction of movement.

- One-ply, rayon/polyester weave conforms to hard to wrap areas
- One-way stretch with memory accommodates swelling
- Finished edges for low linting



C+ :1 -	Literature allegations of
Sterile -	Unstretched

Item Number	Item Desc.	Case Pkg
PRM25496	2'' x 75''	12/bx, 8 bx/cs, 96/cs
PRM25496Z	2'' x 75''	12/bx
PRM25497	3'' x 75''	12/bx, 8 bx/cs, 96/cs
PRM25497Z	3'' x 75''	12/bx
PRM25498	4'' x 75''	12/bx, 8 bx/cs, 96/cs
PRM25498Z	4'' x 75''	12/bx
PRM25499	6'' x 80''	8/bx, 6 bx/cs, 48/cs

Non-sterile - Unstretched

Item Desc.	Case Pkg	
2'' x 75''	12/bag, 8 bag/cs, 96/cs	
2'' x 75''	12/bag	
3'' x 75''	12/bag, 8 bags/cs, 96/cs	
3'' x 75''	12/bag	
4'' x 75''	12/bag, 8 bags/cs, 96/cs	
4'' x 75''	12/bag	
6'' x 80''	12/bag, 4 bags/cs, 48/cs	
	2" x 75" 2" x 75" 3" x 75" 3" x 75" 4" x 75" 4" x 75"	



Caring Surgical Tapes

TRANSPARENT TAPE

Permits skin examination without tape removal.



- Clear, breathable plastic material
- Micro-perforation allows for bi-directional tearing
- Excellent for IV sites and tubing retention
- Hypoallergenic

Item Number	Item Desc.	Case Pkg
PRM260201	1'' x 10 yds	12 rolls/bx, 12 bx/cs
PRM260201H	1'' x 10 yds	12 rolls/bx
PRM260202	2'' x 10 yds	6 rolls/bx, 12 bx/cs
PRM260202H	2'' x 10 yds	6 rolls/bx
PRM260203	3'' x 10 yds	4 rolls/bx, 12 bx/cs
PRM260203H	3'' x 10 yds	4 rolls/bx

CLOTH "SILK" TAPE

A strong tape for affixing dressings.



- Sturdy rayon/acetate fabric helps secure dressings in place
- Serrated edges facilitate tearing
- Durable adhesion with minimal residue on skin
- Water repellent and hypoallergenic

Item Number	Item Desc.	Case Pkg
PRM260101	1'' x 10 yds	12 rolls/bx, 12 bx/cs,144 rolls/cs
PRM260101H	1'' x 10 yds	12 rolls/bx
PRM260102	2'' x 10 yds	6 rolls/bx, 12 bx/cs, 72 rolls/cs
PRM260102H	2'' x 10 yds	6 rolls/bx
PRM260103	3'' x 10 yds	4 rolls/bx, 12 bx/cs, 48 rolls/cs
PRM260103H	3'' x 10 yds	4 rolls/bx



PAPER TAPE

Gentle, breathable tape for sensitive skin.



- Gentle, air-permeable, non-woven material
- Especially recommended for geriatric patients or others with fragile skin
- Conforms and adheres even to damp skin
- Secures lightweight dressing and tubing, ostomy pouches and facial dressings
- Hypoallergenic

Item Number	Item Desc.	Case Pkg
PRM260001	1'' x 10 yds	12 rolls/bx, 12 bx/cs, 144 rolls/cs
PRM260001H	1'' x 10 yds	12 rolls/bx
PRM260002	2" x 10 yds	6 rolls/bx, 12 bx/cs, 72 rolls/cs
PRM260002H	2'' x 10 yds	6 rolls/bx
PRM260003	3'' x 10 yds	4 rolls/bx, 12 bx/cs, 48 rolls/cs
PRM260003H	3'' x 10 yds	4 rolls/bx



PLASTIC ADHESIVE BANDAGES

Protect minor wounds and scrapes.

- Sheer plastic backing
- Long-lasting adhesive with minimal residue
- Sterile and absorbent non-adherent pad

Item Number	Item Desc.	Case Pkg
PRM25500	3/4'' x 3''	100/bx, 12 bx/cs, 1200/cs
PRM25500H	3/4'' x 3''	100/bx
PRM25600	1'' x 3''	100/bx, 12 bx/cs, 1200/cs
PRM25600H	1'' x 3''	100/bx



Need Traditional Wound Care items you can't find in this brochure?

If you can't find something you need, please see Medline's Traditional Wound Care brochure or ask your Medline sales representative for assistance. Call 1-800-MEDLINE (633-5463), or visit our on-line catalog at www.medline.com.